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Which of the following are components of the axial skeleton?

A. Skull v

B. Pelvis

C. Vertebral column v
D. Rib cage v

Which bones are part of the facial structure?

A. Mandible v

B. Femur

C. Maxillae v

D. Nasal bones v

Which sections are part of the vertebral column?
A. Cervical vertebrae v
B. Thoracic vertebrae v

C. lliac crest
D. Lumbar vertebrae v

Which ribs are considered false ribs?
A. First 7 pairs
B. Next 3 pairs v

C. Last 2 pairs
D. All ribs attached to the sternum

What are the functions of the axial skeleton?
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A. Protects vital organs v

B. Facilitates movement v’

C. Produces red blood cells

D. Provides a framework for the body v/

How many cervical vertebrae are there in the human body?

A. 5

B.7v
C.12
D. 10

Which part of the sternum is located at the top?
A. Xiphoid Process
B. Body

C. Manubrium v
D. Coccyx

Which section of the vertebral column is directly attached to the ribs?

A. Cervical
B. Thoracic v
C. Lumbar
D. Sacrum

How many pairs of ribs are directly attached to the sternum?

A5

B.7v
C. 10
D. 12

Which part of the skull houses the brain?

A. Mandible
B. Cranium v
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C. Maxillae
D. Nasal bones

Explain the importance of the axial skeleton in providing protection to vital organs. Provide
examples of specific bones and the organs they protect.

The axial skeleton consists of the skull, vertebral column, and rib cage, which provide protection to
vital organs such as the brain (skull), spinal cord (vertebral column), and heart and lungs (rib cage).

Describe the differences between true ribs, false ribs, and floating ribs, and explain how their
attachment to the sternum varies.

True ribs (ribs 1-7) attach directly to the sternum via costal cartilage, false ribs (ribs 8-10) connect to
the sternum indirectly through the cartilage of the rib above, and floating ribs (ribs 11-12) do not
attach to the sternum at all.

Discuss the role of the vertebral column in supporting the human body and facilitating movement.
Include details about the different sections and their specific functions.

The vertebral column, or spine, is divided into five sections: cervical, thoracic, lumbar, sacral, and
coccygeal. The cervical region supports the head and allows for neck movement, the thoracic region
anchors the ribs and supports the upper body, the lumbar region bears the weight of the body and
allows for bending and twisting, the sacral region connects the spine to the pelvis, and the
coccygeal region, or tailbone, provides attachment for ligaments and muscles. Together, these
sections provide structural support, protect the spinal cord, and facilitate a range of movements.

Analyze how the structure of the skull contributes to its function in protecting the brain and
supporting facial structures.

The skull protects the brain through its hard, bony encasement and supports facial structures with
its various bones, allowing for both protection and the maintenance of facial shape.

Evaluate the significance of the rib cage in the respiratory system. How does its structure aid in
breathing?

The rib cage is significant in the respiratory system as it protects the lungs and heart while its
flexible structure aids in the expansion and contraction necessary for effective breathing.

Which of the following bones are part of the cranium?
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A. Frontal bone v
B. Temporal bone v
C. Scapula

D. Parietal bone v

Which functions are associated with the vertebral column?

A. Encases the spinal cord v

B. Supports the head v

C. Produces hormones

D. Provides attachment points for muscles v’

Which parts of the sternum are involved in the attachment of ribs?

A. Manubrium v
B. Body v

C. Xiphoid Process
D. Coccyx

How many vertebrae are fused to form the sacrum?
A 3

B. 4

C.5v

D. 6

Which part of the vertebral column is commonly known as the tailbone?

A. Sacrum
B. Coccyx v
C. Lumbar
D. Thoracic

Which of the following is NOT a function of the axial skeleton?

A. Supports the body v
B. Protects vital organs v’
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C. Produces red blood cells
D. Provides attachment points for muscles v’

Discuss how the axial skeleton interacts with the appendicular skeleton to facilitate movement and
support.

The axial skeleton interacts with the appendicular skeleton by providing a stable base for the limbs
to move from, allowing for coordinated movement and support during activities such as walking,
running, and lifting.

Explain the developmental process of the vertebral column from infancy to adulthood, focusing on
the changes in the number and structure of vertebrae.

The vertebral column starts with 33 vertebrae at birth, including 7 cervical, 12 thoracic, 5 lumbar, 5
sacral (which fuse to form the sacrum), and 4 coccygeal (which fuse to form the coccyx). As a
person matures, the sacral and coccygeal vertebrae fuse, leading to a total of 24 movable vertebrae
in adulthood.

Analyze the impact of injuries to the axial skeleton, such as fractures in the vertebral column or
skull, on overall body function and health.

Injuries to the axial skeleton can lead to significant impairments in body function, including mobility
issues, chronic pain, and potential neurological deficits.

Evaluate the evolutionary significance of the axial skeleton in humans compared to other
vertebrates. How has it adapted to support bipedalism?

The evolutionary significance of the axial skeleton in humans lies in its adaptations for bipedalism,
including a S-shaped spine, a wider pelvis, and a centrally located foramen magnum, which
collectively improve stability and support upright walking.

Describe the anatomical differences between the cervical, thoracic, and lumbar vertebrae and
explain how these differences relate to their functions.

Cervical vertebrae (C1-C7) are smaller and allow for neck mobility; thoracic vertebrae ( T1-T12) are
larger, articulate with ribs, and provide stability; lumbar vertebrae (L1-L5) are the largest, supporting
body weight and allowing for bending and twisting.
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